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••  AAnnaallooggiieess  33  Level 1  

  

DDiirreeccttiioonnss:: Choose the word on the right 
that best expresses a relationship similar 
to that of the original pair. 
 

 
A rose is a kind of flower. 
A hammer is a kind of tool.  

Example: 

 
  

##))     DARK : LIGHT 

LITTLE: 

AA..  angry 

BB..  big 

CC..  rainy 

 

22))  MOTHER : WOMAN 

FATHER : 
AA..  shoe 

BB..  teacher 

CC..  man 

 

33))  HAMMER : HIT 

GUN : 
AA..  shoot 

BB..  feel 

CC..  eat 

 

44))  COFFEE : DRINK 

VIOLIN : 

AA..  food 

BB..  person 

CC..  instrument 

 

55))  RIGHT : LEFT 

AFTER : 
AA..  up 

BB..  orange 

CC..  before 

 
 

 

66))  SHOES : FEET 

HELMET : 
AA..  arms 

BB..  head 

CC..  toes 

 

77))  BREAD : FOOD 

RED : 
AA..  color 

BB..  song 

CC..  television 

 

88))  POOR : MONEY  

SAD : 

AA..  age 

BB..  feelings 

CC..  happiness 

 

99))  BRICK : WALL 

PAGE : 
AA..  book 

BB..  house 

CC..  car 

 

1100))   DAY : WEEK 

MONTH : 
AA..  year 

BB..  November 

CC..  hour 

11))  BROOM : CLEAN 

STOVE : 

AA..  write 

BB..  cook 

CC..  look 
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Answers and Explanations  

 
1) B 
A broom is used to clean. A stove is used to cook. Therefore (B) is correct. 

  
2) C 
By definition, a mother is a woman. By definition, a father is a man. Therefore (C) is correct. 

  
3) A 
A hammer is used to hit. A gun is used to shoot. Therefore (A) is correct. 

 
4) C 
Coffee is a type of drink.  A violin is a type of instrument. Therefore (C) is correct. 

 
5) C 

The opposite of right is left. The opposite of after is before. Therefore (C) is correct. 

  

6) B 

Shoes protect one’s feet. A helmet protects one’s head. Therefore (B) is correct. 

 
7) A 

Bread is a type of food. Red is a type of color. Therefore (A) is correct. 

  
8) C 

Someone who is poor lacks money. Someone who is sad lacks happiness. Therefore (C) is correct. 

 
9) A 

A brick is part of a wall. A page is part of a book. Therefore (A) is correct. 

  
10) A 
A day is part of a week. A month is part of a year. Therefore (A) is correct. 

 


